FIXED UNIT PRICE AGREEMENT FOR CONTRACTOR SERVICES

THIS AGREEMENT is made as of the <u>26th</u> day of <u>October</u> in the year 2020, between The City of Leesburg, a Florida Municipal Corporation, whose address is 501 West Meadow Street, Post Office Box 490630, Leesburg, Florida 34749-0630 (hereinafter referred to as the "CITY"), and **DANUS UTILITIES, INC.** whose address is 2320 Beardall Avenue, Sanford, FL 32771 (hereinafter referred to as the "CONTRACTOR").

NOW, THEREFORE, in consideration of the mutual benefits accruing to the parties to this Agreement, and for other good and valuable considerations, the parties agree as follows:

- 1. **Contract Documents.** The following documents and information are incorporated by reference and made part hereof; and shall comprise the Contract Documents.
 - a. This Agreement; and
 - b. Invitation for Bid (IFB) 200451 Lift Station Rehabilitation Services in its entirety; and
 - c. The CONTRACTOR'S response to IFB 200451 made electronically on September 30, 2020 at 3:21 PM.
- 2. **Supplies or Services.** The CONTRACTOR shall provide Lift Station Rehabilitation Services to the CITY as listed in Invitation for Bid 200451 and as described in **ATTACHMENT 'A'**. The unit costs of the services shall not exceed those stated in **0** 78
- 3. except where the cost adjustment clause has been exercised following the Firm Fixed Price Period. Nothing herein shall limit the CITY'S right to obtain these services from other contractors for the same or similar work.
- 4. **Labor and Materials.** The CONTRACTOR shall furnish all labor, material and equipment necessary for satisfactory contract performance. When not specifically identified in the technical specifications, such materials and equipment shall be of a suitable type and grade for the purpose. All material, workmanship, and equipment shall be subject to the inspection and approval of the CITY's representative.
- 5. **Term of Agreement.** The Initial Term of the Agreement will be through **September 30, 2021**.
- 6. **Renew.** The CITY may renew the agreement for additional year(s) if mutually agreed upon by the Contractor and the City. Any such renewal(s) will be accomplished by written amendment to this Agreement.
- 7. **Payment.** All invoices shall contain th4e purchase order number, date and location of delivery and confirmation of acceptance of the goods or services by the appropriate CITY representative. Failure to submit invoices in the prescribed manner will delay payment.

Payments shall be tendered in accordance with the Florida Prompt Payment Act. Part VII, Chapter 218, Florida Statutes.

- 8. **Firm Fixed Price Period.** All Pricing will be firm and fixed during the Initial Term of the Agreement. For any Renewal Terms, the CONTRACTOR may request a price adjustment as provided for in the Cost Adjustments section.
- 9. **Cost Adjustment.** Pricing for any Renewal Terms will be subject to an adjustment only if increases in the industry can be documented. However, unless very unusual and significant changes have occurred in the industry, such increases shall not exceed 5% per year.

The CONTRACTOR is responsible for requesting any Price Adjustment during the Contract renewal process. Any requested price increase shall be fully documented and submitted to the CITY at least sixty (60) days prior to the then current Contract term. Any approved Price Adjustment will become effective when the Contract is extended by written Amendment.

The CITY may, after examination, refuse to accept the requested Price Adjustment if they are not properly documented, increases are considered to be excessive, or decreases are considered to be insufficient. In the event the CITY does not wish to accept the adjusted costs and the matter cannot be resolved to the satisfaction of the CITY, the Agreement will not be renewed.

1. Termination for Convenience or Cause.

- a. **For Convenience.** The CITY may terminate this Agreement at any time without cause by providing the CONTRACTOR with SEVEN (7) calendar days advance notice in writing, delivery by email is acceptable. In the event of termination for convenience, all finished or unfinished deliverable items prepared by the CONTRACTOR under this Agreement shall, at the option of the CITY, become the CITY's property. If the Agreement is terminated for convenience by the CITY as provided herein, the CONTRACTOR shall be paid for services satisfactorily completed, less payment or compensation previously made. The CONTRACTOR shall not incur any additional expenses after receiving the written notice of termination.
- b. For Cause or Default. If, through any cause, the CONTRACTOR should fail to fulfill in a timely and proper manner its obligations under this Agreement, other than for the instances listed below due to "Force Majeure," the CITY will have the right to terminate this Agreement by providing a written notice (Show Cause Notice) to the CONTRACTOR requiring a written response due within FIVE (5) calendar days from receipt of the written notice as to why the Agreement should not be terminated for default. The CITY's Show Cause Notice shall include an Agreement termination date at least SEVEN (7) calendar days subsequent to the due date for the CONTRACTOR's response. Should the CONTRACTOR fail to respond to such show cause notice, or if the CITY determines that the reasons provided by the CONTRACTOR for failure of the CONTRACTOR to fulfill its contractual obligations do not justify continuation of the contractual relationship, the Agreement shall be considered to have been terminated for default on the date indicated in the Show Cause Notice. Should the CITY determine that

the CONTRACTOR provided adequate justification that a termination for default is not appropriate under the circumstances; the CITY shall have a unilateral option to either continue the Agreement according to the original contract provisions or to terminate the contract for convenience. In the event that the CITY terminates the contract for default, all finished or unfinished deliverable items under this contract prepared by the CONTRACTOR shall, at the option of the CITY, become CITY property, and the CONTRACTOR shall be entitled to receive just and equitable compensation for any satisfactory work completed on such materials. Notwithstanding this compensation, the CONTRACTOR shall not be relieved of liability to the CITY for damages sustained by the CITY by virtue of any breach of this Agreement, and the CITY may withhold any payment due the CONTRACTOR for the purpose of set-off until such time as the exact amount of damages due the CITY from such breach can be determined.

In case of default by the CONTRACTOR, the CITY may procure the services from other sources and hold the CONTRACTOR responsible for any excess cost occasioned thereby. The CITY reserves the right to require a performance bond or other acceptable alternative performance guarantees from the successor CONTRACTOR without expense to the CITY.

In addition, in the event of default by the CONTRACTOR under this Agreement, the CITY may immediately cease doing business with the CONTRACTOR, immediately terminate for cause all existing Agreements the CITY has with the CONTRACTOR, and debar the CONTRACTOR from doing future business with the CITY.

Upon the CONTRACTOR filing a petition for bankruptcy or the entering of a judgment of bankruptcy by or against the CONTRACTOR, the CITY may immediately terminate, for cause, this Agreement and all other existing agreements the CONTRACTOR has with the CITY, and debar the CONTRACTOR from doing future business with the CITY.

The CITY may terminate this Agreement for cause without penalty or further obligation at any time following Agreement execution, if any person significantly involved in initiating, negotiating, securing, drafting, or creating the Agreement on behalf of the CITY is at any time while the Agreement or any extension thereof is in effect, an employee or agent of any other party to the Agreement in any capacity or consultant to any other party of the Agreement with respect to the subject matter of the Agreement. Additionally, the CITY may recoup any fee or commission paid or due to any person significantly involved in initiating, negotiating, securing, drafting or creating the Agreement on behalf of the CITY from any other party to the Agreement.

Upon receipt of a termination action, for convenience or cause, the CONTRACTOR shall promptly discontinue all affected work (unless the notice directs otherwise) and deliver or otherwise make available to the City all data, drawings, reports specifications, summaries and other such information, as may have been accumulated by the CONTRACTOR in performing this contract, whether completed or in process.

2. **Force Majeure.** Neither party shall be deemed to be in default of its obligations hereunder if and so long as it is prevented from performing such obligations by any act of war, hostile foreign action, nuclear explosion, riot, strikes, civil insurrection, earthquake, hurricane, tornado, or other catastrophic natural event or act of God. Should there be such an occurrence that impacts the ability of either party to perform their responsibilities under this contract, the nonperforming party shall give immediate written notice to the other party to explain the cause and probable duration of any such nonperformance.

3. Insurance Requirements.

- a. <u>Scope of Insurance</u> The CONTRACTOR shall procure and maintain at its own expense, the following minimum insurance coverage, unless otherwise specified in the Contract Documents.
 - i All required insurance shall be provided by insurers acceptable to the CITY with an A.M. Best rating of at least A: VII.
 - ii The CONTRACTOR shall require, and shall be responsible for assuring that any and all of its subcontractors secure and maintain such insurance that are required by law to be provided on behalf of their employees and others until the completion of that subcontractors work.
 - iii The required insurance shall be secured and maintained for not less than the limits required by the CITY, or as required by law, whichever is greater. iv. The required insurance shall not limit the liability of the CONTRACTOR. The CITY does not represent these coverages or amounts to be adequate or sufficient to protect the CONTRACTOR's interests or liabilities, but are merely required minimums.
 - iv The provisions of the required insurance are subject to the approval of the City's Risk Manager, and upon request, the CONTRACTOR shall make available certified copies of the various policies for inspection.
 - v All liability insurance, except professional liability, shall be written on an occurrence basis.
 - vi The CONTRACTOR waives its right of recovery against the CITY to the extent permitted by its insurance policies.
 - vii Insurance required of the CONTRACTOR, or any other insurance of the CONTRACTOR shall be considered primary, and insurance of the CITY, if any, shall be considered excess as applicable to any claims which arise out of the agreement, Contract or lease.
- b. <u>Certificate of Insurance</u> The CONTRACTOR shall provide evidence of required minimum insurance by providing the CITY an ACORD or other Certificate of Insurance in forms acceptable to the Risk Manager for the CITY, before any work under the agreement, Contract or lease begins.
 - Except for workers' compensation and professional liability, the CONTRACTOR's insurance policies shall be endorsed to name the City of Leesburg as additional insured to the extent of the agreement, Contract or lease.

- ii The Certificate(s) of Insurance shall designate the CITY as certificate holder as follows: City of Leesburg, Attn: Purchasing Manager, P.O. Box 490630, Leesburg, Florida 34749-0630.
- iii The Certificate(s) of Insurance shall include a reference to the project and/or purchase order number.
- iv The Certificate(s) of Insurance shall indicate that the CITY shall be notified at least thirty (30) days in advance of cancellation.
- v The Certificate(s) of Insurance shall include all deductibles and/or self-insurance retentions for each line of insurance coverage.
- vi The CONTRACTOR, at the discretion of the Risk Manager for the CITY, shall provide information regarding the amount of claims payments or reserves chargeable to the aggregate amount of the CONTRACTOR's liability coverage(s).
- c. <u>Comprehensive General Liability</u> The CONTRACTOR shall purchase and maintain Commercial General Liability coverage on forms no more restrictive than the latest editions of the Commercial General Liability policies of the Insurance Services Office (ISO). The Commercial General Liability policy shall provide minimum limits of \$1,000,000 per occurrence combined single limit that includes coverage for bodily and personal injury and property damage liability for premises, operations, products and completed operations*, independent Contractors, Contractual liability covering the agreement, Contract or lease, broad form property damage coverage, and property damage resulting from explosion, collapse or underground exposures (x, c, u).
 - i. For remodeling and construction projects, the CONTRACTOR shall purchase and maintain products and completed operations coverage for a minimum of three (3) years beyond the CITY's acceptance of the project.
- d. <u>Business Automobile Liability</u> The CONTRACTOR shall purchase and maintain Business Automobile Liability coverage on forms no more restrictive than the latest editions of the Business Automobile Liability policies of the Insurance Services Office (ISO). The Business Automobile Liability policy shall provide minimum limits of \$1,000,000 per occurrence combined single limit that includes coverage for claims for bodily injury and property damage arising from the use of motor vehicles, including onsite and off-site operations, and owned, non-owned and hired vehicles, and employee non-ownership use.
- e. <u>Workers' Compensation</u> The CONTRACTOR shall purchase and maintain Workers' Compensation insurance for all workers' compensation obligations imposed by state law and with employers liability limits of at least \$100,000 each accident and \$100,000 each employee with \$500,000 policy limit for disease.
- 12. Waiver of Lien. The CONTRACTOR agrees to make payment of all proper charges for labor and materials supplied and CONTRACTOR shall hold harmless the CITY

against any claim arising out of any unpaid bills for labor, services, or materials furnished for the project covered by this Agreement.

13. Indemnification. The CONTRACTOR agrees to make payment of all proper charges for labor required in the aforementioned work and CONTRACTOR shall indemnify CITY and hold it harmless from and against any loss or damage, claim or cause of action, and any attorneys' fees and court costs, arising out of: any unpaid bills for labor, services or materials furnished to this project; any failure of performance of CONTRACTOR under this Agreement; or the negligence of the CONTRACTOR in the performance of its duties under this Agreement, or any act or omission on the part of the CONTRACTOR, his agents, employees, or servants. CONTRACTOR shall defend, indemnify, and save harmless the CITY or any of their officers, agents, or servants and each and every one of them against and from all claims, suits, and costs of every kind and description, including attorney's fees, and from all damages to which the CITY or any of their officers, agents, or servants may be put by reason of injury to the persons or property of others resulting from the performance of CONTRACTOR'S duties under this Agreement, or through the negligence of the CONTRACTOR in the performance of its duties under this Agreement, or through any act or omission on the part of the CONTRACTOR, his agents, employees, or servants.

If however, this Agreement is a "construction contract" as defined in and encompassed by the provision of Florida Statutes § 725.06, then the following shall apply in place of the aforementioned indemnification provision:

The CONTRACTOR shall indemnify the CITY and hold it, its officers, and its employees harmless from liabilities, losses, and costs, including, but not limited to, reasonable attorney's fees to the extent caused by the negligence, recklessness, or intentional wrongful conduct of the CONTRACTOR and persons employed or utilized by the CONTRACTOR in the performance of this Agreement. The liability of the CONTRACTOR shall, however, be limited to one million and 00/100 dollars (\$1,000,000.00) per occurrence, and the obligation of the CONTRACTOR to indemnify the CITY shall be limited to acts, omissions, or defaults of the CONTRACTOR; any contractors, subcontractors, sub-subcontractors, material men, or agents or employees of any of them, providing labor, services or materials in connection with the project; and the CITY, its officers, agents and employees, provided however that the CONTRACTOR shall not be obligated to indemnify the CITY against losses arising from the gross negligence, or willful, wanton, or intentional misconduct of the CITY, its officers, agents and employees, or against statutory violations or punitive damages except to the extent caused by or resulting from the acts or omissions of the CONTRACTOR, or any contractors, subcontractors, sub-subcontractors, material men, or agents or employees of any of them, providing labor, services, or materials in connection with this Agreement.

14. Codes, Laws, and Regulations. CONTRACTOR will comply with all applicable codes, laws, regulations, standards, and ordinances in force during the term of this Agreement.

- 15. **Permits, Licenses, and Fees.** CONTRACTOR will obtain and pay for all permits and licenses required by law that are associated with the CONTRACTOR'S performance of the Scope of Services. All permits and licenses required by law or requirements of the Request for Proposal will remain in force for the full duration of this Agreement and any extensions.
- 16. Public Records Retention. CONTRACTOR shall keep and maintain public records that ordinarily and necessarily would be required by the CITY in order to perform the services being provided by CONTRACTOR herein. CONTRACTOR shall provide the public with access to public records on the same terms and conditions that the CITY would provide the records and at a cost that does not exceed the cost provided in Chapter 119, Florida Statutes. CONTRACTOR shall ensure that public records that are exempt or confidential and exempt from public records disclosure requirements are not disclosed except as authorized by law. CONTRACTOR shall meet all requirements for retaining public records and transfer, at no cost, to the CITY all public records in possession of the CONTRACTOR upon termination of this Agreement and destroy any duplicate public records that are exempt or confidential and exempt from public records disclosure requirements. All records stored electronically must be provided to the CITY by CONTRACTOR in a format that is compatible with the information technology systems of the CITY.
- IF THE CONTRACTOR HAS QUESTIONS REGADING THE APPLICATION OF CHAPTER 119, FLORDIA STATUTES TO THE CONTRACTOR'S DUTY TO PROVIDE PUBLIC RECOREDS RELATING TO THIS CONTRACT, CONTACT THE CUSTODIAN OF PUBLIC RECORDS AT 352-728-9731, 501 W. MEADOW STREET, LEESBURG, FLORIDA 34748.
- 17. Access to Records. The services provided under this Agreement may be funded in part by a grant from a government agency other than the CITY. As a requirement of grant funding CONTRACTOR shall make records related to this project available for examination to any local, state or federal government agency, or department, during CONTRACTOR'S normal business hours. Said records will be maintained for a period of five (5) years after the date of the invoice.
- 18. Contingent Fees Prohibited. The CONTRACTOR warrants that he or she has not employed or retained any company or person, other than a bona fide employee working solely for the CONTRACTOR, to solicit or secure this Agreement and that he or she has not paid or agreed to pay any person, company, corporation, individual, or firm, other than a bona fide employee working solely for the CONTRACTOR any fee, commission, percentage, gift, or other consideration contingent upon or resulting from the award or making of this Agreement. In the event of a breach of this provision, the CITY shall have the right to terminate this Agreement without further liability and at its discretion, deduct from the contract price, or otherwise recover,

the full amount of any such fee, commission, percentage, gift or consideration paid in breach of this Agreement.

19. Acceptance of Goods or Services. The goods delivered as a result of an award from this solicitation shall remain the property of the CONTRACTOR, and services rendered under the Agreement will not be deemed complete, until a physical inspection and actual usage of the product(s) and/or service(s) is (are) accepted by the CITY and shall be in compliance with the terms herein, fully in accord with the specifications and of the highest quality.

Any goods and/or services purchased as a result of this solicitation and/or Agreement may be tested and/or inspected for compliance with specifications. In the event that any aspect of the goods or services provided is found to be defective or does not conform to the specifications, the CITY reserves the right to terminate the solicitation or initiate corrective action on the part of the CONTRACTOR, to include return of any non-compliant goods to the CONTRACTOR at the CONTRACTOR's expense, requiring the CONTRACTOR to either provide a direct replacement for the item, or a full credit for the returned item. The CONTRACTOR shall not assess any additional charge(s) for any conforming action taken by the CITY under this clause. The CITY will not be responsible to pay for any product or service that does not conform to the contract specifications.

In addition, any defective product or service or any product or service not delivered or performed by the date specified in the purchase order or contract, may be procured by the CITY on the open market, and any increase in cost may be charged against the awarded contractor. Any cost incurred by the CITY in any re-procurement plus any increased product or service cost shall be withheld from any monies owed to the CONTRACTOR by the CITY for any contract or financial obligation.

This project will be inspected by an authorized representative of the CITY. This inspection shall be performed to determine acceptance of work, appropriate invoicing, and warranty conditions.

- 20. **Ownership of Documents.** All data, specifications, calculations, estimates, plans, drawings, construction documents, photographs, summaries, reports, memoranda, and other documents, instruments, information and material prepared or accumulated by the CONTRACTOR (or by such sub-consultants and specialty consultants) in rendering services hereunder shall be the sole property of the CITY who may have access to the reproducible copies at no additional cost other than printing. Provided, that the CONTRACTOR shall in no way be liable or legally responsible to anyone for the CITY'S use of any such materials for another PROJECT, or following termination. All original documents shall be permanently kept on file at the office of the CONTRACTOR.
- 21. **Independent Contractor.** The CONTRACTOR agrees that he or she is an independent contractor and not an agent, joint venture, or employee of the CITY, and nothing in this Agreement shall be construed to be inconsistent with this relationship or status. None of the benefits provided by the CITY to its employees, including but not limited to, workers' compensation insurance, unemployment insurance, or retirement benefits, are available from the

CITY to the CONTRACTOR. CONTRACTOR will be responsible for paying his own Federal income tax and self-employment tax, or any other taxes applicable to the compensation paid under this Agreement. The CONTRACTOR shall be solely and primarily responsible for his and her acts during the performance of this Agreement.

- 22. **Assignment.** Neither party shall have the power to assign any of the duties or rights or any claim arising out of or related to the Agreement, whether arising in tort, contract, or otherwise, without the written consent of the other party. These conditions and the entire Agreement are binding on the heirs, successors, and assigns of the parties hereto.
- 23. **No Third Party Beneficiaries.** This Agreement gives no rights or benefits to anyone other than the CONTRACTOR and the CITY.
- 24. **Jurisdiction.** The laws of the State of Florida shall govern the validity of this Agreement, its interpretation and performance, and any other claims related to it. In the event of any litigation arising under or construing this Agreement, venue shall lie only in Lake County, Florida.
- 25. **Contact Person**. The primary contact person under this Agreement for each party is listed here. Contact person and information may be updated as needed by written, electronic mail is acceptable, communication to the other party. Notifying party shall receive confirmation the other party has received the change to the Contact Person.

CONTRACTOR Contact Information

Name/Title: Dan Pardus, President Address: 2320 Beardall Avenue City, State & Zip: Sanford, FL 32771

Telephone: 386-804-0068

Email Address: danus2@cfl.rr.com

CITY Contact Information

Name/Title: Neil Gaines, Deputy Director of Public Works

Telephone: 352-571-0989

Email Address: Neil.Gaines@leesburgflorida.gov

26. Approval of Personnel. The CITY reserves the right to approve the contact person and the persons actually performing the services on behalf of CONTRACTOR pursuant to this Agreement. If CITY, in its sole discretion, is dissatisfied with the contact person or the person or persons actually performing the services on behalf of CONTRACTOR pursuant to this Agreement, CITY may require CONTRACTOR assign a different person or persons be designated to be the contact person or to perform the CONTRACTOR services hereunder.

- 27. **Disclosure of Conflict.** The CONTRACTOR has an obligation to disclose to the CITY any situation that, while acting pursuant to this Agreement, would create a potential conflict of interest between the CONTRACTOR and his duties under this Agreement.
- 28. Warranty. The CONTRACTOR agrees that, unless expressly stated otherwise in the bid or proposal, the product and/or service furnished as a result of an award from this solicitation shall be covered by the most favorable commercial warranty the CONTRACTOR gives to any customer for comparable quantities of products and/or services and the rights and remedies provided herein are in addition to said warranty and do not limit any right afforded to the CITY by any other provision of this solicitation.

The CONTRACTOR hereby acknowledges and agrees that all materials, except where recycled content is specifically requested, supplied by the CONTRACTOR in conjunction with this Agreement shall be new, warranted for their merchantability, and fit for a particular purpose.

29. **Risk of Loss.** The CONTRACTOR assumes the risk of loss of damage to the CITY's property during possession of such property by the CONTRACTOR, and until delivery to, and acceptance of, that property to the CITY. The CONTRACTOR shall immediately repair, replace or make good on the loss or damage without cost to the CITY, whether the loss or damage results from acts or omissions (negligent or not) of the CONTRACTOR or a third party.

The CONTRACTOR shall indemnify and hold the CITY harmless from any and all claims, liability, losses and causes of action which may arise out of the fulfillment of this Agreement. The CONTRACTOR shall pay all claims and losses of any nature whatsoever in connection therewith, and shall defend all suits, in the name of the CITY when applicable, and shall pay all costs and judgments which may issue thereon.

- 30. **Employment Eligibility.** Effective 12:01 AM EST January 1, 2021, the CONTRACTOR becomes obligated to comply with the provisions of Section 448.095, Fla. Stat., "Employment Eligibility." This includes but is not limited to utilization of the E-Verify System to verify the work authorization status of all newly hired employees, and requiring all subcontractors to provide an affidavit attesting that the subcontractor does not employ, contract with, or subcontract with, an unauthorized alien. Failure to comply will lead to termination of this Agreement, or if a subcontractor knowingly violates the statute, the subcontract must be terminated immediately. Any challenge to termination under this provision must be filed in the Circuit Court no later than TWENTY (20) calendar days after the date of termination. If this contract is terminated for a violation of the statute by the CONTRACTOR, the CONTRACTOR may not be awarded a public contract for a period of ONE (1) year after the date of termination.
- 31. Illegal Alien Labor CONTRACTOR shall comply with all provisions of the Federal Immigration and Control Act of 1986 (8 U.S. Code § 1324 a) and any successor federal laws, as well as all provisions of Section 448.09, Florida Statutes, prohibiting the hiring and continued employment of aliens not authorized to work in the United States. CONTRACTOR shall not knowingly employ or contract with an illegal alien to perform work under this Agreement or enter into an Agreement with a subcontractor that fails to certify to the

CONTRACTOR that the subcontractor is following the terms stated within. The CONTRACTOR nor any subcontractor employed by him shall not knowingly employ or contract with an illegal alien to perform work under this Agreement. CONTRACTOR agrees that it shall confirm the employment eligibility of all employees through participation in E-Verify or an employment eligibility program approved by the Social Security Administration and will require same requirement to confirm employment eligibility of all subcontractors.

All cost incurred to initiate and sustain the aforementioned programs shall be the responsibility of the CONTRACTOR. Failure to meet this requirement may result in termination of the Agreement by the CITY.

- 32. **Counterparts.** Original signatures transmitted and received via facsimile or other electronic transmission of a scanned document, (e.g., PDF or similar format) are true and valid signatures for all purposes hereunder and shall bind the parties to the same extent as that of an original signature. Any such facsimile or electronic mail transmission shall constitute the final agreement of the parties and conclusive proof of such agreement. Any such electronic counterpart shall be of sufficient quality to be legible either electronically or when printed as hardcopy. The CITY shall determine legibility and acceptability for public record purposes. This Agreement may be executed in one or more counterparts, each of which shall for all purposes be deemed to be an original and all of which shall constitute the same instrument.
- 33. **Authority to Obligate.** Each person signing this agreement on behalf of either party individually warrants that he or she has full legal power to execute this Agreement on behalf of the party for whom he or she is signing, and bind and obligate such party with respect to all provisions contained in this agreement.

[Signature page follows.]

IN WITNESS WHEREOF, the parties hereto have executed this Agreement on the date indicated in the preamble to the Agreement.

DANUS UTILITIES, INC.

Ву:	D 2010ct 26, 2020 12:22 EDT)				
Prin	Dan J. Pardus				
Its:	President				
	(Title)				

CITY OF LEESBURG, FLORIDA

Elise Dennison, Mayor

ATTEST:

J. Andi Purvis, City Clerk

Approved as to form:

Fred A. Morrison, City Attorney

ATTACHMENT 'A'

50	093 LIFT STATION REHABILITATION SERVICES - FIXED UNIT PRICE (200451)				Utilities, inford, FL	
#	Item Description	Estimated	Unit of Measure	Unit Price	Exten	ded Price
1	Lift Station Surface Rehabilitation by Cementitious Lining	100	SQUARE FEET (SF)	\$ 20.00	\$	2,000.00
	Bypass 8 INCH Sewer Setup.	5	EACH (EA)	\$ 500.00		2,500.00
	Bypass 10 INCH to 12 INCH Sewer Setup	5	EACH (EA)	\$ 750.00		3,750.00
	Bypass 15 INCH to 18 INCH Sewer Setup	5	EACH (EA)	\$ 1,000.00		5,000.00
	Sewer Bypass 4 INCH PUMP	25	PER DAY	\$ 200.00		5,000,00
	Sewer Bypass 6 INCH PUMP	10	PER DAY	\$ 250,00		2,500,00
7	Sewer Bypass 8 INCH PUMP	10	PER DAY	\$ 300,00		3,000,00
8		10	EACH (EA)	\$ 2,928.00		29,280,00
	Furnish and Install PUMP BASE - 6 INCH (Inclusive of pump brackets)	5	EACH (EA)	\$ 3,293.00		16,465.00
	Furnish and Install PUMP BASE - 8 INCH (Inclusive of pump brackets)	5	EACH (EA)	\$ 3,330.00		16,650.00
	Re-Construct Lift Station Fillet - 6 FEET Diameter	5	EACH (EA)	\$ 500.00	\$	2,500.00
	Re-Construct Lift Station Fillet - 8 FEET Diameter	2	EACH (EA)	\$ 650.00		1,300.00
	Re-Construct Lift Station Fillet - 10 FEET Diameter	2	EACH (EA)	\$ 750.00		1,500.00
14	Re-Construct Lift Station Fillet - 12 FEET Diameter	2	EACH (EA)	\$ 850,00	\$	1,700.00
15	REMOVE and REPLACE Existing Piping and Valves within Existing Submersible Lift Station through Existing Valve Vault - 4 INCH (price per each riser)	10	EACH (EA)	\$ 5,900.00	\$	59,000.00
16	REMOVE and REPLACE Existing Piping and Valves within Existing Submersible Lift Station through Existing Valve Vault - 6 INCH (price per each riser)	5	EACH (EA)	\$ 7,220.00	\$	36,100.00
17	REMOVE and REPLACE Existing Piping and Valves within Existing Submersible Lift Station through Existing Valve Vault - 8 INCH (price per each riser)	5	EACH (EA)	\$ 9,800.00	\$	49,000,00
18	REMOVE and REPLACE Existing Piping and Valves within Existing Submersible Lift Station through Existing Valve Vault - 10 INCH (price per each riser)	5	EACH (EA)	\$ 13,300.00	\$	66,500,00
19	REMOVE and REPLACE Existing Piping and Valves within Existing Submersible Lift Station through Existing Valve Vault - 12 INCH (price per each riser)	5	EACH (EA)	\$ 16,600.00	\$	83,000,00
20	FURNISH and INSTALL 6 FOOT top Slab with 36-INCH x 48-INCH hatch with Safety Grate	5	EACH (EA)	\$ 4,100.00	\$	20,500.00
21	FURNISH and INSTALL 8 FOOT top Slab with 36-INCH x 48-INCH hatch with Safety Grate	2	EACH (EA)	\$ 4,900.00	\$	9,800,00
22	FURNISH and INSTALL 5-FT x 5-FT Valve Box with 48-INCH x 48-INCH Hatch	5	EACH (EA)	\$ 5,900.00	\$	29,500.00
23	FURNISH and INSTALL 6-FT x 6-FT Valve Box with 48-INCH x 48-INCH Hatch	2	EACH (EA)	\$ 6,600.00	\$	13,200.00
24	Temporary Bypass Riser - 4 INCH	5	EACH (EA)	\$ 2,800.00	\$	14,000.00
	Temporary Bypass Riser - 6 INCH	2	EACH (EA)	\$ 3,500.00	\$	7,000.00
	Temporary Bypass Riser - 8 INCH	2	EACH (EA)	\$ 5,300.00	\$	10,600.00
27	2-INCH SS Dual Guide Ralls with Brackets - 10 FT to 15 FT	10	EACH (EA)	\$ 900,00	\$	9,000.00
28	2-INCH SS Dual Guide Rails with Brackets - 15 FT to 20 FT	5	EACH (EA)	\$ 1,000.00	\$	5,000.00
29	3-INCH SS Dual Guide Rails with Brackets - 10 FT to 15 FT	5	EACH (EA)	\$ 1,700.00	\$	8,500.00
30	3-INCH SS Dual Guide Rails with Brackets - 15 FT to 20 FT	5	EACH (EA)	\$ 1,800.00	\$	9,000.00
31	FURNISH and INSTALL 3-INCH DRAIN	5	EACH (EA)	\$ 400.00	\$	2,000.00
32	Drain and Clean Wet Well - 6 FOOT	5	EACH (EA)	\$ 900.00	\$	4,500.00
33	Drain and Clean Wet Well - 8 FOOT	2	EACH (EA)	\$ 1,100.00	\$	2,200.00
34	Drain and Clean Wet Well - 10 FOOT	3	EACH (EA)	\$ 1,600.00	\$	4,800.00
35	Drain and Clean Wet Well - 12 FOOT	3	EACH (EA)	\$ 1,600.00	\$	4,800,00
36	CONNECT Lift Station Piping to Existing Force Main - 4 INCH	5	EACH (EA)	\$ 750,00		3,750,00
	CONNECT Lift Station Piping to Existing Force Main - 6 INCH	2	EACH (EA)	\$ 800.00		1,600.00
	CONNECT Lift Station Piping to Existing Force Main - 8 INCH	2	EACH (EA)	\$ 1,100.00	\$	2,200.00
	CONNECT Lift Station Piping to Existing Force Main - 10 INCH	2	EACH (EA)	\$ 1,300.00	\$	2,600.00
40	CONNECT Lift Station Piping to Existing Force Main - 12 INCH	2	EACH (EA)	\$ 1,650.00	\$	3,300.00
41	FURNISH and INSTALL HDPE Riser Pipe, Bracket, Base Ell and Base Plate in Place of Ductile Iron Riser and Fitting on line Item 16 - 4 INCH (This price will be either added if more or	2	EACH (EA)	\$ 7,630.00	\$	15,260.00
42	subtracted if less from original base bid price) FURNISH and INSTALL HDPE Riser Pipe, Bracket, Base Ell and Base Plate in Place of Ductile Iron Riser and Fitting on line Item 17 - 6 INCH (This price will be either added if more or	2	EACH (EA)	\$ 8,950.00	·	17,900.00
Ü	subtracted if less from original base bid price) FURNISH and INSTALL HDPE Riser Pipe, Bracket, Base Ell and Base Plate in Place of Ductile		27.01.7(27.7)	- 0,000,00		.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
	Iron Riser and Fitting on line Item 18 - 8 INCH (This price will be either added if more or subtracted if less from original base bid price)	3	EACH (EA)	\$ 11,693.00	\$	35,079.00
44	FURNISH and INSTALL HDPE Riser Pipe, Bracket, Base Ell and Base Plate in Place of Ductile Iron Riser and Fitting on line Item 19 - 10 INCH (This price will be either added if more or subtracted if less from original base bid price)	3	EACH (EA)	\$ 15,630.00	\$	46,890.00
15	FURNISH and INSTALL HDPE Riser Pipe, Bracket, Base Ell and Base Plate in Place of Ductile Iron Riser and Fitting on line Item 20 - 12 INCH (This price will be either added if more or subtracted if less from original base bid price)	3	EACH (EA)	\$ 19,330.00	\$	57,990.00
16	REMOVE and REPLACE Existing Potable Water Piping and PRV Valve within Existing and through Existing Valve Vault - 6 INCH	1	EACH (EA)	\$ 2,621.00	\$	2,621.00
17	REMOVE and REPLACE Existing Potable Water Piping and PRV Valve within Existing and through Existing Valve Vault - 8 INCH	1	EACH (EA)	\$ 2,590.00	\$	2,590.00
	REMOVE and REPLACE Existing Potable Water Piping and PRV Valve within Existing and through Existing Valve Vault - 10 INCH	1	EACH (EA)	\$ 2,661,00	\$	2,661.00
	REMOVE and REPLACE Existing Potable Water Piping and PRV Valve within Existing and through Existing Valve Vault - 12 INCH	1	EACH (EA)	\$ 2,747.00	\$	2,747.00
	2-INCH Line Stop	1	EACH (EA)	\$ 3,000.00	\$	3,000.00
	4-INCH Line Stop	1	EACH (EA)	\$ 3,350.00		3,350.00
	6-INCH Line Stop	1	EACH (EA)	\$ 4,000.00		4,000.00
	8-INCH Line Stop	1	EACH (EA)	\$ 4,350.00		4,350.00
	10-INCH Line Stop	1	EACH (EA)	\$ 5,250.00		5,250.00
	12-INCH Line Stop	1	EACH (EA)	\$ 5,250.00		5,250.00
18	14-INCH Line Stop	1	EACH (EA)	\$ 6,850.00		6,850.00
	16-INCH Line Stop		EACH (EA)	\$ 9,250.00		9,250.00

Agreement-DanusUtilitiesInc-200451

Final Audit Report 2020-10-26

Created:

2020-10-26

By:

Mike Thornton (mike.thornton@leesburgflorida.gov)

Status:

Signed

Transaction ID:

CBJCHBCAABAA76EdCAMU17zjDnXiXZerc6c3KxKMppYG

"Agreement-DanusUtilitiesInc-200451" History

Document created by Mike Thornton (mike.thornton@leesburgflorida.gov) 2020-10-26 - 12:16:36 PM GMT- IP address: 8.26.112.25

Document emailed to Dan J. Pardus (danus2@cfl.rr.com) for signature 2020-10-26 - 12:17:12 PM GMT

Email viewed by Dan J. Pardus (danus2@cfl.rr.com) 2020-10-26 - 12:18:13 PM GMT- IP address: 107.77.216.24

Document e-signed by Dan J. Pardus (danus2@cfl.rr.com)

Signature Date: 2020-10-26 - 4:22:58 PM GMT - Time Source: server- IP address: 107.77.215.124

Agreement completed.
 2020-10-26 - 4:22:58 PM GMT